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POLYNOMIALS, LCM AND HCF OF POLYNOMIALS

Example 4 1

1. Find the product of (a + b + ¢) [(a —b)2+(b—0)+ (c— a)2]

o Watch Video Solution

Example 4 2

1. Factorize a® + (b — a)3 — b



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WpnzmuLnl2vc
https://dl.doubtnut.com/l/_BAl4ipuCpu35

o Watch Video Solution

Example 4 3

1

1 1 3
1. If abc=8 and — + — + — = —, then find the value of
a b c 2

ab + be + ac.

A.10
B. M
C.12

D.13

Answer: C

° Watch Video Solution

Example 4 4


https://dl.doubtnut.com/l/_BAl4ipuCpu35
https://dl.doubtnut.com/l/_egVSB2VKy75x

1. The HCF of the polynomials (z —2)(2z° +z +a) and
(2z —1)(z® — 5z +b) is (z —2)(2z —1). Find the relation

between a and b.

° Watch Video Solution

Example 4 5

1. If

fz) = (2" + 3z +a),g(z) = (2° + 5z +b), h(z) = (2° + 4z + ¢)
and LCM of [f(x), g(z) and h(z)] is (x + 1)(z + 2)(z + 3), then

find (a-b + ¢).

o Watch Video Solution

Test Your Concepts Very Short Answer Type Questions



https://dl.doubtnut.com/l/_gHn7dpAheFR5
https://dl.doubtnut.com/l/_ngiO2Mxmhhf8

1. The degree of the polynomial 9zt — Tz? + 823 is

o Watch Video Solution

2. The numerical coefficient of the term 1727 is

° Watch Video Solution

3. The algebraic identity that can be used in evaluating the value of

o Watch Video Solution

4 37° — 28° B
" 372 1 37,28 + 282

° Watch Video Solution



https://dl.doubtnut.com/l/_74KH8W1v2ElK
https://dl.doubtnut.com/l/_27TpkhLNZyF2
https://dl.doubtnut.com/l/_jmrhzQAUxEDs
https://dl.doubtnut.com/l/_dkh3JomYqUUy

17
5.The literal coefficient of the term Tac

o Watch Video Solution

6. The appropriate formula that can be used to find the value of

(a(3) ()

o Watch Video Solution

7.1f (a — b)® + (b — ¢)® + (¢ — a)? = 0, then the values of a, b, and

o Watch Video Solution

1 9 1
8.Ifa + — = —2,thena”+ — =
a a2

l o Watch Video Solution


https://dl.doubtnut.com/l/_G5a0ojXKwnJH
https://dl.doubtnut.com/l/_YPQOECFhDExi
https://dl.doubtnut.com/l/_DWgmlvyMjWLY
https://dl.doubtnut.com/l/_siCzlPRMeJL1

Test Your Concepts Factorise The Following

1.factorisezty — 2z3y?

° Watch Video Solution

z3 + 8
T+ 2

= z? + 2z + 4.1s the given statement true?

o Watch Video Solution

3.Simplify: ( — 3ab) — (11ab) — ( — 20ab) — (14ab)

o Watch Video Solution



https://dl.doubtnut.com/l/_siCzlPRMeJL1
https://dl.doubtnut.com/l/_aW7RqmoLN6Ib
https://dl.doubtnut.com/l/_P4yMneApSaFb
https://dl.doubtnut.com/l/_MBNBJYGICfPU

4.(m +n)(m + n)(m + n)(m —n)(m — n)(m — n)

(True/False)

o Watch Video Solution

5.Divide (4z° + 2z — 11) by 2z°.

o Watch Video Solution

a® + b — A + 3abe B
a+b—c

o Watch Video Solution

7.factorise az’y + axy® + a’zy + 2azy.

° Watch Video Solution



https://dl.doubtnut.com/l/_3IrmNQRghq4m
https://dl.doubtnut.com/l/_pd4VavU2fXOS
https://dl.doubtnut.com/l/_ztRs2GuT8X8t
https://dl.doubtnut.com/l/_hmP06UFYTHHq

Test Your Concepts Simplify The Following

L(2° —22° - 3) x (— )

o Watch Video Solution

2.The HCF of (2% — 1)°, (z + 1) and (2® — 1) is

o Watch Video Solution

3.factorise ax — bz + a®> — ab

o Watch Video Solution

4.The HCF of zy + 22, zy — 2% and z* — 2%y is

o Watch Video Solution



https://dl.doubtnut.com/l/_qlMhEOEyg1EH
https://dl.doubtnut.com/l/_mnlwMeeQjmtz
https://dl.doubtnut.com/l/_B3giSVm0Wblk
https://dl.doubtnut.com/l/_jYmHUyJYzSFY

5. simplify(z + 11)*

o Watch Video Solution

6. The HCF and LCM of 36z2y® and 32zy® are

respectively.

o Watch Video Solution

7. (5a + 2b)° simplify

o Watch Video Solution

z 2\’
8. (Z + ?> simplify

o Watch Video Solution



https://dl.doubtnut.com/l/_jYmHUyJYzSFY
https://dl.doubtnut.com/l/_HV00Pxh8So15
https://dl.doubtnut.com/l/_OJ1aCtzn0Jpy
https://dl.doubtnut.com/l/_wfyxHKrDndKI
https://dl.doubtnut.com/l/_41qyNEZXipsK

9.The LCM of 27a° and 81a'® is 3*a’. If the given statement true?

o Watch Video Solution

10. Find the products of the following by using the appropriate
identity:

(z —2)(xz + 3)

° Watch Video Solution

1. Find the products of the following by using the appropriate
identity:

(z +5)(x — 11)

o Watch Video Solution



https://dl.doubtnut.com/l/_41qyNEZXipsK
https://dl.doubtnut.com/l/_JAjJUN9XAJNn
https://dl.doubtnut.com/l/_solbNm7NAngS
https://dl.doubtnut.com/l/_bsGaNbuHzQum
https://dl.doubtnut.com/l/_RQ7MsWljrbzT

12. Find the products of the following by using the appropriate
identity:

(z - 9)(z —7)

° Watch Video Solution

13. The HCF of 36xy and k is 6, then the least value of k is

o Watch Video Solution

14.The LCM of (z + a)” and (z® — a?) is

o Watch Video Solution

15. Find the following products using the appropriate identity:

(z + 11)(z — 11)



https://dl.doubtnut.com/l/_RQ7MsWljrbzT
https://dl.doubtnut.com/l/_y2zHhDk24jnF
https://dl.doubtnut.com/l/_FxMsLBe4ckxT
https://dl.doubtnut.com/l/_GlMcyEDWUuEn

| ° Watch Video Solution

16. Find the following products using the appropriate identity:

G+2)(52)

o Watch Video Solution

17. Find the following products using the appropriate identity:

(ab + cd)(ab — cd)

o Watch Video Solution

18. Find the values of the following by using suitable identity:

(55)°

° Watch Video Solution



https://dl.doubtnut.com/l/_GlMcyEDWUuEn
https://dl.doubtnut.com/l/_uDe7aStSEwUK
https://dl.doubtnut.com/l/_c0GHCP5Obs7E
https://dl.doubtnut.com/l/_Nb8kb2uIlBwm
https://dl.doubtnut.com/l/_OzFf21Ck8oa2

19. Find the values of the following by using suitable identity:

(26)°

° Watch Video Solution

20. Find the values of the following by using suitable identity:

105 x 95

° Watch Video Solution

21. Find the values of the following by using suitable identity:

52.5 x 47.5

o Watch Video Solution



https://dl.doubtnut.com/l/_OzFf21Ck8oa2
https://dl.doubtnut.com/l/_EzxhG0zZxU21
https://dl.doubtnut.com/l/_Lk5ey5Eystbr

22.Find the values of the following by using suitable identity:

(206)*

o Watch Video Solution

23. Find the values of the following by using suitable identity:

(396)*

o Watch Video Solution

24. Factorize

:1:5y . $y5

o Watch Video Solution



https://dl.doubtnut.com/l/_7POsd7zV8DUN
https://dl.doubtnut.com/l/_gRhsTIODUS04
https://dl.doubtnut.com/l/_R5ewjZTgs308

25. Factorize

22 + 5z — 6

o Watch Video Solution

26. (32” + = — 11) x (72° + 12)

o Watch Video Solution

27. Using the factor method, simplify

(a:2y—|—2acy—|—a: +2) + (zy + 1).

o Watch Video Solution

28. What must be subtracted from 2z% —1 in order to get

22+ +1?



https://dl.doubtnut.com/l/_q3iPyXdB3Ht2
https://dl.doubtnut.com/l/_yhGtFvmWm1MS
https://dl.doubtnut.com/l/_8CpAbUeggFVJ
https://dl.doubtnut.com/l/_jDxyjFmO8aKV

| o Watch Video Solution

29. Factorize

1+ 6ab + 9a°b?

o View Text Solution

30. Factorize

81° — 3602m + 54lm? — 2Tm?

° Watch Video Solution

Test Your Concepts Short Answer Type Questions

1LIfA = 52% — 11,

B = 9z% — 22% + 7,and


https://dl.doubtnut.com/l/_jDxyjFmO8aKV
https://dl.doubtnut.com/l/_j0q9uOj2Y53m
https://dl.doubtnut.com/l/_DeAHlhecKLLJ
https://dl.doubtnut.com/l/_HanCdxS7PMnt

C = z2 + 9, then find

A+ C.

o Watch Video Solution

2.IfA = 523 — 11,
B = 9z2% — 22% + 7,and
C = z? + 9, then find

A+ (B+0).

o Watch Video Solution

3. What must be added to 7z® — 3z + 52 + 4 in order to get

92 + 22—z — 1?

° Watch Video Solution



https://dl.doubtnut.com/l/_HanCdxS7PMnt
https://dl.doubtnut.com/l/_5jQFdOG3DSZg
https://dl.doubtnut.com/l/_NSncH9jdQ1in

Test Your Concepts Expand The Following By Using Appropriate

Identity

1(z + 2y + 32)°

° Watch Video Solution

2.(3a — 2b + 5¢)°

o Watch Video Solution

3. Expand the following by using the identity
(a —b)* = a® — b® — 3ab(a — b)

(2z — 3y)3

° Watch Video Solution



https://dl.doubtnut.com/l/_ISBuXGMR0Hgy
https://dl.doubtnut.com/l/_SfoEnEJ1Vgr5
https://dl.doubtnut.com/l/_vAoVBuHumeZP

4. Expand the following by using the identity

(a —b)® = a® — b* — 3ab(a — b)

(-

o Watch Video Solution

5. Find the following products.

(cz + by) (cz — by) ((e2)” + (by)?)

° Watch Video Solution

6. Find the following products.

(a+1)(a—1)(a® +1)

o Watch Video Solution



https://dl.doubtnut.com/l/_GpuSFkvINRF6
https://dl.doubtnut.com/l/_wFdLSks46dHW
https://dl.doubtnut.com/l/_xtJEfibJELEJ

7.fa?> + v* = 40and ab = 12,finda + b and a — b.

o Watch Video Solution

8. Factorize :

64a’ — 1

o Watch Video Solution

9. Simplify:

(2z + 3y)2 + (22 — 3y)2

o Watch Video Solution

10. Simplify:

(1 —ab)® — (1 + ab)®



https://dl.doubtnut.com/l/_sVoXyeTzmhBn
https://dl.doubtnut.com/l/_n5dFcCcaIbNH
https://dl.doubtnut.com/l/_QL9wKtWKuC9g
https://dl.doubtnut.com/l/_wdjuwGUYRHjQ

| o Watch Video Solution

1. Simplify:

(2a — 3b 4+ 1)* + (2a — 3b — 1)°

o Watch Video Solution

12. Simplify:

(5z + 3y +2)* + (52 + 3y — 2)°

o Watch Video Solution

13. Simplify:

(ax + by)3 — (ax — by)3

o Watch Video Solution



https://dl.doubtnut.com/l/_wdjuwGUYRHjQ
https://dl.doubtnut.com/l/_dymxzNJU3fKP
https://dl.doubtnut.com/l/_jlnOUQX99IX1
https://dl.doubtnut.com/l/_vx8KsFvPh8hc
https://dl.doubtnut.com/l/_9TpKX7x2mxdF

14. Simplify:

(42 +7)° + (42 — 7)°

o Watch Video Solution

15.1fa — b =5 and ab = — 4,then find a® — b°.

o Watch Video Solution

9 1 1, 1
16. If a®* —2a —1=0, then find a — —,a+ —,a" + — and
a a a’
1
2
a® — —.
a2

o Watch Video Solution

Test Your Concepts Essay Type Questions



https://dl.doubtnut.com/l/_9TpKX7x2mxdF
https://dl.doubtnut.com/l/_bEinMnjAOfvb
https://dl.doubtnut.com/l/_VJ7I9s52qVkb

1. f 240+ =24 and ab+bc+ca= —4, then find

a-+ b+ c

o Watch Video Solution

2. Find the LCM and the HCF of the polynomials
(:L'2 — 1) (m2 +x— 2) and (.’L’2 + 2z + 1) (:L'2 + 2z — 3)5 . Verify
if the product of the L.C.M and the HCF is equal to the product of

polynomials.

o Watch Video Solution

3.1fz + y+ 2z = 0,then find (z + 9)° + (y + 2)* + (z + 2)°.

o Watch Video Solution



https://dl.doubtnut.com/l/_E6ki9fRraHZi
https://dl.doubtnut.com/l/_NLJukF04fJnH
https://dl.doubtnut.com/l/_hcsUsJv3ISXA

4.1f z + y = 3and zy = 2, then find z* + y*.

o Watch Video Solution

5.fz —y =3 and zy = 10, then find z* + y*.

° Watch Video Solution

1 17 1 1 1
6. If 22+ — = _—, then find z — —,z 4+ —, 2> — — and
2 4 T T 3
3 1

o Watch Video Solution

Concept Application Level 1

1 1
1.Ifa + — = 3,then the value of a> + — is
a a,2



https://dl.doubtnut.com/l/_caNF5vt4n8o2
https://dl.doubtnut.com/l/_C66xqzPzT0vf
https://dl.doubtnut.com/l/_KBf29SdNaLJn
https://dl.doubtnut.com/l/_9aM0ekFeBp6k

A.9

B.6

C.7

D.8

Answer: C

o Watch Video Solution

1 1
2.If a2 + — = 27,then the value of a — — is
a? a

A £5

B.£6

C.£7

D.£8

Answer: A


https://dl.doubtnut.com/l/_9aM0ekFeBp6k
https://dl.doubtnut.com/l/_waOu1IPe8RO9

° Watch Video Solution

3. The expansion of (a:2 + 4) (a:2 — 4) (334 + 16) is

A x8 — 128
B.z* — 162
C.z% — 256
D.z8 — 256
Answer: D

o Watch Video Solution

1
4. If the value of a® + — is 786, then the value of a — - is
a


https://dl.doubtnut.com/l/_waOu1IPe8RO9
https://dl.doubtnut.com/l/_iSAE77fzvcOd
https://dl.doubtnut.com/l/_IGIzha5aFzDO

B. +25

C.£17

D. =28

Answer: D

° Watch Video Solution

5. Which of the following is
4% + b* — 4ab + 2b — da + 17

A (a—0)

B.(a+b—2)

C.(a—b+2)

D.(2a — b —1)

Answer: D

the

factor

of



https://dl.doubtnut.com/l/_IGIzha5aFzDO
https://dl.doubtnut.com/l/_mtMNJ9pa8lKM

o Watch Video Solution
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Answer: C

o Watch Video Solution

22 3¢\° (2 3
7.Simplest form of (_a + _q> — <_a _ 4

5 5

1 3 2



https://dl.doubtnut.com/l/_mtMNJ9pa8lKM
https://dl.doubtnut.com/l/_nS528QgnRppx
https://dl.doubtnut.com/l/_5GHmvmgwFJix

. 3 2
B. 195 (54q + 72a q)

1 3 2
C To5 (16¢° + 108aq”)

1 3 2
D. 75= (16¢° — 108ag’)

Answer: B

o Watch Video Solution

8. Factorize the polynomial —r2 4+ p? + ¢® — 2pq.

Alp—g—r)(p—q+r)
B.(p+gqg+r)(p—q—r)
C(p—q(g—r)

D.(p—r)(g—1)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5GHmvmgwFJix
https://dl.doubtnut.com/l/_lkSDwq8q3kEO

2
1 1 1

9. (a+ = +2] =4then find a®> + — given that a®> + — can
a a? a?

not be negative
A 12
B.13
C.14

D.—14

Answer: C

o Watch Video Solution

10. The product of the polynomials (z° —z +2) and (z — 1) is

Azd—222 + 32 —2


https://dl.doubtnut.com/l/_lkSDwq8q3kEO
https://dl.doubtnut.com/l/_J9wifFeEAjKf
https://dl.doubtnut.com/l/_PlH0ZtUOmPxr

B.z3 + 322 — 3z + 2
C.z3— 2z + 42> — 6

D.z% — 222 + 3z + 2

Answer: A

° Watch Video Solution

11. Simplify the equation (% _ b

3
A a_3 + ab?
4
al ab?
I + 3
203 a’b
ot
D. 2 + a®b
27
Answer: B

| ° Watch Video Solution



https://dl.doubtnut.com/l/_PlH0ZtUOmPxr
https://dl.doubtnut.com/l/_1XFeHgDlcTuW

12.Factorize : (z — ¢)° + (y — 2)° + (2 — z)°

A 23 + 2% + 22°

B.(z —y)(y — 2)(z — =)

C.0

D.3(z — y)(y — 2)(z — )

Answer: D

o Watch Video Solution

13.Ifz +y = 3and zy = 2, then find z* + y*.

A. 16

B.14


https://dl.doubtnut.com/l/_1XFeHgDlcTuW
https://dl.doubtnut.com/l/_GQMRwPygRQtC
https://dl.doubtnut.com/l/_AJqp14lQeyVx

C.18

D.17

Answer: D

° Watch Video Solution

14. The HCF of the polynomials

10(a — 1)(a — 2)*,120(a — 3)(a — 2)°, and 135(a + 3)(a — 2)° is
A.25(a — 3)(a — 2)
B.5(a — 3)(a + 2)
C.5(a — 2)°

D.5(a — 3)(a — 2)(a + 3)

Answer: C

[ - 1


https://dl.doubtnut.com/l/_AJqp14lQeyVx
https://dl.doubtnut.com/l/_Mb1CRK6PAw8P

| o Watch Video Solution

15. The LCM of the polynomials 12(:1:4 + 23 + azz) and 18(:::4 — az)
is

A. 362 (a:3 — 1)

B. 36z (z® — 1)

C. 36(:134 + 2° + :1:2) (:1:4 — x)

D.36(z* + 2° + 2%)(z + 1)

Answer: A

° Watch Video Solution

16. The polynomials a’> — b+ ab— a, on factorization, reduces to


https://dl.doubtnut.com/l/_Mb1CRK6PAw8P
https://dl.doubtnut.com/l/_s9ifG5J9TIKI
https://dl.doubtnut.com/l/_FS6vvijXwE5Q

A (a+b)(a® +b?)
B.(a +b)(a+1)
C.(a—0b)(a+1bd)

D.(a +b)(a — 1)

Answer: D

° Watch Video Solution

17. find value (8:(:3 + 1193) =+ 3z

Nt
3t T3

B 8 S+ 11
8 , 11

D. 24z* + 3322

Answer: A


https://dl.doubtnut.com/l/_FS6vvijXwE5Q
https://dl.doubtnut.com/l/_Sfx7BqxrJdql

° Watch Video Solution

18. The HCF of polynomials z® — 1 and 2% — 1is

Ax—1
B.x+1
C.xz—:z:—l—l

D.1

Answer: A

o Watch Video Solution

19. The factorized form of the polynomial y? + (z — 1)y — z is

Aly+z—1)(xz+1)

B.(y + 1)(z — 1)


https://dl.doubtnut.com/l/_Sfx7BqxrJdql
https://dl.doubtnut.com/l/_IMbGY5IlO2cq
https://dl.doubtnut.com/l/_3JX7hrb6pd0K

Cy—1)(y+=z)

D.(z — 1)(z + y)

Answer: C

o Watch Video Solution

20.ifa + b = 3and ab = 2, then find a® + b°.

A.6
B.4
C.9

D.12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3JX7hrb6pd0K
https://dl.doubtnut.com/l/_Rano8vvVeCem
https://dl.doubtnut.com/l/_vCcdesREd3SM

21. The value of 513 + 493 is

A 5%2% — 300
B.5%2% + 300
C. 250, 000

D.552% + 299

Answer: B

o Watch Video Solution

22, If r+y+z=5and zy+yz+ 2x =1, then

3+ P+ 20— 3xyz=

° Watch Video Solution



https://dl.doubtnut.com/l/_vCcdesREd3SM
https://dl.doubtnut.com/l/_zgCj0fngSULy

23. Factorization of the polynomial
(z — y)’a® + 2(z — y)(z + y)ab + b*(z + y)° gives

A (az — by)(az + by)

B. (az + by)(bz + ay)

C. (az — ay + bz + by)*

D. (az + ay + bz + by)?

Answer: C

o Watch Video Solution

24. The factors of the expression z* — 2z — 63 are _

Ax—T7x—9

Bz +7,z+9


https://dl.doubtnut.com/l/_DaxwSSsZSsYT
https://dl.doubtnut.com/l/_EQZDhuISVjan

Cx+7z—9

Dz —7,x+ 9

Answer: C

o Watch Video Solution

25. If ab+ bc+ ca = 4 and abec = 2, then find the value of

B.1

C.0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EQZDhuISVjan
https://dl.doubtnut.com/l/_QbJBKO5VGeTo

2 2

26. Factorize 2 — y* + 2° — a® + 2(zz + ay)

Alz+y+z—a)(z—y+2z—a)
B.(zr+z—y+a)z+y+2z—a)
Cle—y+z4+a)(z+y—2z+a)

D.(x —y—z—a)(z+y+2+a)

Answer: B

o Watch Video Solution

1 , 1
27.f x + — = Tthen 2° — — is
X w3

A.9\/5
B.144,/5

C.135,/5


https://dl.doubtnut.com/l/_QbJBKO5VGeTo
https://dl.doubtnut.com/l/_HIW7JqLGSEQO
https://dl.doubtnut.com/l/_qUNXaolKFj9P

D. /5

Answer: B

o Watch Video Solution

1 1 1
28. If — +— 4+ — =1 and abec = 2
a b c

ab’? + a’b + a’b’cis

A4

Answer: A

then

find

o Watch Video Solution



https://dl.doubtnut.com/l/_qUNXaolKFj9P
https://dl.doubtnut.com/l/_u3LHPhQRAs9R
https://dl.doubtnut.com/l/_IX0g4QqgnxHL

29.1fa® + 8® = 5 and a + b = 1, then find the value of ab.

o Watch Video Solution

w o
w |

30. Simplify (a: _y ) (wé + iyt + y%)

o Watch Video Solution

1 — 1
30fF 23 + — = 62, then find the value of \/3:3 + —.
T 3

The following steps are involved in solving the above problem.

Arrange them in sequential order.

2
A .. (\/FJF%) — 62+ 2 — 64
XL

(B) = (\/§+%> — /64 =8
Xr


https://dl.doubtnut.com/l/_IX0g4QqgnxHL
https://dl.doubtnut.com/l/_EVuSCJmmEwDi
https://dl.doubtnut.com/l/_tP64kuqaKiIy

A. CABD

B. ABCD

C. ACDB

D. CDAB

Answer: D

° Watch Video Solution

32.The square of binomial is a

A. Monomial

B. Binomial

C. Trinomial

D. None of these

Answer: C


https://dl.doubtnut.com/l/_tP64kuqaKiIy
https://dl.doubtnut.com/l/_exHpoL6BkiCu

o Watch Video Solution

33. Which of the following is a binomial?

A.ax

B.(z — y)°
2

C.(x+vy)

Answer: D

o Watch Video Solution

Concept Application Level 2

Lifz? +y2 + 2y =1 and z + y = 2, then find xy.


https://dl.doubtnut.com/l/_exHpoL6BkiCu
https://dl.doubtnut.com/l/_X1oHXE8v4LFe
https://dl.doubtnut.com/l/_gslnZyusP52n

Answer: B

° Watch Video Solution

2. 35. Factorization of the polynomial, 11z 10,/3z — 3 gives
A (z ++/3) (11z — /3)
B. (z + 3y/3) (11z — /3)
C (z — v3) (11z + /3)

D. (z + /3) (11z + /3)

Answer: C


https://dl.doubtnut.com/l/_gslnZyusP52n
https://dl.doubtnut.com/l/_eZAfb4hMjDua

° Watch Video Solution

3. If h(y) =y and g(z) =2, then the HCF of

h(b) — h(a) and g(b) — g(a) is

Aa-+b
B.a’> — b’
C.b—a

D.a — b

Answer: C

o Watch Video Solution

4. The HCF of the polynomials

(z° — 9°)(z + 3) and (2* — 9)(z° —3) is


https://dl.doubtnut.com/l/_eZAfb4hMjDua
https://dl.doubtnut.com/l/_1HyhrcwwCeF9
https://dl.doubtnut.com/l/_gSDMePX6JsjI

Az + /3
B.x — 9
Cx—+3

D.x — 3

Answer: C

o Watch Video Solution

5. 22 +y2 — 22— 2zy

Alr—y—2)(z—y+2)
B.(x +y+2)(z—y+2)
Cz+y+2)(z—y—2)

D.(z —y+2)(z +y—2)

Answer: A


https://dl.doubtnut.com/l/_gSDMePX6JsjI
https://dl.doubtnut.com/l/_mKZhXJfsgUJO

° Watch Video Solution

6. The polynomial z3 + 8y® + 2723 — 18zyz on factorization gives
A(z +2y+ 3z2) (332 + 4y% + 92° + 2zy + 6yz + 3zx)
B. (z + 2y + 32) (z* + 4y® + 92° + dzy + 12yz + 627)
C.(z + 2y + 32) (:p2 + 4y + 927 4 2zy — 6yz — 3z2z)

D. (z + 2y + 32) (z° + 4y* + 92° — 2zy — 12yz — 622)

Answer: C

° Watch Video Solution

7. The polynomial z* + 122 4 64 on factorization gives

A.(:z:2—2a:—|—8)(a:2—|—2:c—8)


https://dl.doubtnut.com/l/_mKZhXJfsgUJO
https://dl.doubtnut.com/l/_YKi4iQ2Y2XwW
https://dl.doubtnut.com/l/_Wlvu5n1O6csE

B. (2> — 2z — 8) (z® + 2z + 8)
C.(m2+2x—8)(m2—2x—8)

D.(ZL’2—233+8)(ZE2+2$+8)

Answer: D

o Watch Video Solution

8.The HCF of (z — 1) (2* — 4) and (2° — 1)(z + 2) is

Ax — 2
B.x+1
Cx—1

D.(x — 1)(z + 2)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Wlvu5n1O6csE
https://dl.doubtnut.com/l/_BT53SggZf3kw

9. The HCF and LCM of the polynomials p(z) and ¢(z) are
(:L'2 + 2:1;) (ac2 — 20z + 91) and 2z (:v2 — 2z — 143) (:132 — 5T — 14)
Jdfp(z) is z(z — 13)(z — 7) (z° + 13z + 22), then g(z) is

A.2z° (z° — 20z + 91)(z — 2)

B.2z2(x — 9)*(z — 11)

C.2z%(z® — 20z + 91) (z + 2)

D.2z*(z” + 20z — 91) (z + 2)

Answer: C

o Watch Video Solution

10. The LCM of the polynomials

(z —3)(z+5)% (z+5)(z —7)° and (z — 7)(z — 3)° is


https://dl.doubtnut.com/l/_BT53SggZf3kw
https://dl.doubtnut.com/l/_9a4ikiUN8fyh
https://dl.doubtnut.com/l/_eQsM3yWJCNVr

A (x—3)(xz —T7)(xz —5)
B.1
C.(z —3)*(z — 7)*(z + 5)°

D. (z — 3)*(x — 7)°

Answer: C

° Watch Video Solution

11. The factors of the expression

a+b+c+2vab—2ybc — 2 /caare_____

A a — b+ /e, \Ja— b+ /c
B.\/a+ vb— /¢ a— b+ /c
C./a+ b — /e, \Ja+ b — e



https://dl.doubtnut.com/l/_eQsM3yWJCNVr
https://dl.doubtnut.com/l/_Rm0DCCu0mFUA

D.\/a++vb—,/c,\Ja+b—c

Answer: C

° Watch Video Solution

12. The HCF of two polynomials A and B using longdivision method
was found to be 2x 4 1 after twosteps. The first two quotients
obtained are z and (x + 1). Find A and B. Given that degree of
A > degree of B.
AA=222432>+2—-1,B=22>—3z+1
BA=223—3224+2—-1,B=222 -3z -1
CA=223+3¢2 -3z —-1,B=222-3z+1

D.A=2z+3z>+3c+1,B=22>+3z+1

Answer: D

s |


https://dl.doubtnut.com/l/_Rm0DCCu0mFUA
https://dl.doubtnut.com/l/_qEutS7TvFs6z

[ W Watch Video Solution ]

13. The polynomial, % + 64y° on factorization gives _

A (:B2 + 4y2) (:1:4 — 4y4)
B. (z° + 4y%) (z* — 4z®y® + 16y*)
C. (m2 — 4y2) (a:4 + 4y4)

D. (;1:2 + 4y2) (:1:4 + dx?y® + 16y4)

Answer: B

° Watch Video Solution

14. If the LCM of the polynomials
( —3)(z —p) and (z + 3)(z +5) is (z—3)(z+ 3)(z —p),

thenpis


https://dl.doubtnut.com/l/_qEutS7TvFs6z
https://dl.doubtnut.com/l/_LAlmXDmlOuuE
https://dl.doubtnut.com/l/_5O28CfuePNJu

B.—4
C.—2
D.—1
Answer: A

° Watch Video Solution

15. The number of terms which contain variables in the expansion of

2
(ac-l—%—l—l) (A)6(B)5(C)4 (D)3

A.6
B.5
C.4

D.3


https://dl.doubtnut.com/l/_5O28CfuePNJu
https://dl.doubtnut.com/l/_Wzcqse0rriJE

Answer: C

o Watch Video Solution

16. If (a—|—b—|—c)2 = 36,ab+bc+ ca =11 and a,b,c € N, then
find a® + b + .

A. 17

B. 22

C.14

D.6

Answer: C

o Watch Video Solution

3
17,1 22 + % — 12 and 2y — 30, then find 82° + %


https://dl.doubtnut.com/l/_Wzcqse0rriJE
https://dl.doubtnut.com/l/_3i9tJPSYySbb
https://dl.doubtnut.com/l/_vfPZjZsdCmhm

A.1008

B. 168

C.106

D. 108

Answer: A

° Watch Video Solution

18. Find the LCM of the polynomials 5(9:3 — y3) and 35(:(:6 — yﬁ).

A (z —y)
B.5(z® — ¢°)
C.35(z* — ¢°)
D. 35(z° — ¢°)

Answer: D


https://dl.doubtnut.com/l/_vfPZjZsdCmhm
https://dl.doubtnut.com/l/_f2vmch4kqAsc

° Watch Video Solution

19. Find the HCF of the polynomials 6(z* — 36) and 36(z + 6).
A.6(x + 6)
B.6(z — 6)
C.(z + 6)

D. (z — 6)

Answer: A

o Watch Video Solution

20. If a®> + B> + ¢ = 29,ab+ bc + ca = 26 and a, b, c € N, then

finda+b+c

A.9



https://dl.doubtnut.com/l/_f2vmch4kqAsc
https://dl.doubtnut.com/l/_nGLZgh3Fo5NT
https://dl.doubtnut.com/l/_FrbHqePxrEEA

B.6

C.7

D.10

Answer: A

o Watch Video Solution

y y®
21.1f 3x — 5 = 10 and xy = 5, then find 27x3 — ——

125

A.1060
B. 1150
C. 12

D. 1000

Answer: B

l o Watch Video Solution


https://dl.doubtnut.com/l/_FrbHqePxrEEA
https://dl.doubtnut.com/l/_wRVTCSo6Qy7n

Concept Application Level 3

1 1 1
1. If a—l—b+c:6and——|———|——:3, then
a c

b 2

a b b c c
+—-4+—-—4+—-4+—+4 .
c a c a b

a

b

A.6

B.4

C.9

D.12

Answer: A

find

o Watch Video Solution



https://dl.doubtnut.com/l/_wRVTCSo6Qy7n
https://dl.doubtnut.com/l/_zVUJONNgAMQ2
https://dl.doubtnut.com/l/_NPIRXKeLC6LQ

220 _1q

A. 510

B.2

C.O0

D. 210

Answer: C

° Watch Video Solution

3.factors of z* + y* — 2%y? =

A (a:z +y* + V3zy) (a:z + 9% — V3zy)
B. (:v2 —yt + V3zy) (:B2 —y? - V3zy)
C. (2% — y* + 3zy) (v* — 2° — \/3zy)

D. (azz + 9% — V3zy) (a:z + 9% — V3zy)

Answer: A


https://dl.doubtnut.com/l/_NPIRXKeLC6LQ
https://dl.doubtnut.com/l/_Gem1KXMMclzw

° Watch Video Solution

4.1f p(z) = (z — 4)"(z + 6)°, g(z) = (z + 6)(z — 4)° and LCM
of p(z) and g(z) is (z — 4)°(x + 6)%, then find the maximum value
of (p — q)

A—1

B.O

C.1

D. 1

Answer: C

o Watch Video Solution

Ty
z2 —y

5022 +y> — 2y =3 and y — z = 1, then find >


https://dl.doubtnut.com/l/_Gem1KXMMclzw
https://dl.doubtnut.com/l/_kTCKnqWkMyfl
https://dl.doubtnut.com/l/_OcWtK8NDGKoD

w|ot o w ot o

Answer: A

o View Text Solution

6. If abc=6and a+b+c=6, then find the value of
1 1 1

ac ' ab b’
A.2
B.1

C.3

D.O


https://dl.doubtnut.com/l/_OcWtK8NDGKoD
https://dl.doubtnut.com/l/_JkLyM5Ifmjz8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JkLyM5Ifmjz8

